jh YMHOXEHHE TeCATUYHBIX TPO0eH Mo perieTKe Nwmst:

Hcnoab3yiiTe BU3yaJbHYI0 MO/I€/Ib, YTOOBI PElIUTH 3a/1a4y. OTBeTHBI

1) 3x0,94=

2) 2x0,72=

3) 3x0,7=

4) 3x0,69=

5) 4x032=

6) 3x0,8=
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‘::j_':l—‘ YMHOXEHNE JCCATUYHBIX I[p06ef/'l I10 PCIHICTKC Nwms: K104 K NpaBHJILHBIM 0TBETAM

Hcnoab3yiiTe BU3yaJbHYI0 MO/I€/Ib, YTOOBI PElIUTH 3a/1a4y. OTBeTHBI

1) 3x0,94=

282
1. /100 =12,82

144
2. /100 = 1,44

21
3. /10 =2,1
_ 207
2) 2x0,72= . /100 =207
128
5. /100 =1,28
24
6. /10 =24
3) 3x0,7=
4) 3x0,60=
5) 4x032=
6) 3x0,8=

1-6 [83]67]50[33]17] 0 |
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